
sample questions continuous data graph has 2 strands timelypractice.com

The approximate conversion rate to change gallons into litres is

1 gallon = 4.5 litres.

1. (a) (i) Use this approximate conversion rate to complete this table

gallons 0 2 4 6 8 10 12 14 16 18 20

litres 0 9

(a) (ii) On the grid, draw a conversion graph to change between kilograms and pounds.
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This graph can be used to change between pounds (£) and Euros (e).
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strand 1 (b) Use the graph to change £33 into Euros

2. Use the graph to change e46 into pounds.
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